

**Prince George's County Public Schools** 

Louis Wilson Sr., Facilities Administration Building 13300 Old Marlboro Pike, Room 20 Upper Marlboro, MD 20772

#### NOTICE OF CONTRACT AWARD

August 18, 2021

Acme Paper & Supply Company Inc. 8229 Sandy Court Savage MD 20763 Contact: Ronald Attman, CEO Phone: (410) 792-2333 Email: rattman@acmepaper.com Francine Morris Telephone: 301.952.6560 Fax: 301.952.6605 Email: pg\_francine.morris@pgcps.org

#### SUBJECT: IFB 028-21 Paper Goods and Chemicals for Food Nutrition Services

Acme Paper & Supply Company Inc. has been selected as the vendor to provide services in accordance with the above-mentioned IFB 028-21. This contract sets-forth the terms and conditions and is provided for your review and acceptance. Any changes or additions made by your company must first be accepted by the Purchasing Division before the contract is valid.

The intent of this contract is to provide the Board with an expedited means of procuring supplies and/or services at the lowest cost. This contract is for the convenience of the Board and is considered by Purchasing Department to be a "Non-Exclusive" use contract. The Board does not guarantee any usage. The Board will not be held to purchase any particular Brand, in any groups, prices or discount ranges, but reserves the right to purchase any item/items listed in the price schedule submitted.

Until the contract is signed by **Acme Paper & Supply Company Inc** and the BOARD, authorization for commence to service sites on behalf of the contract is forbidden. Please sign below and return all documents to the PURCHASING OFFICE within Ten (10) business days. Failure to sign the contract award and return <u>all</u> required documents within the specified time, shall rule your offer null and void and, therefore, award shall be made to the next low responsive bidder.

### PERFORMANCE/PAYMENT BOND - N/A

A 100% Performance Bond and 100% Labor and Material Payment Bond or Certified Check in the amount of **\$0.00** made in favor of the **BOARD OF EDUCATION OF PRINCE GEORGE'S COUNTY, UPPER MARLBORO, MARYLAND 20772-9983**, must be submitted to the PURCHASING OFFICE with the returned signed NOTICE OF AWARD WITHIN TEN (10) DAYS.

## The bond, cashiers or certified check must be made in favor of the **BOARD OF EDUCATION OF PRINCE GEORGE'S COUNTY, UPPER** MARLBORO, MARYLAND 20772-9983.

## **INITIAL CONTRACT TERM**

The initial term of the contract will be for (3) three years' date of award August 18, 2021. Prices shall remain firm for the initial term of the contract.

### **OPTION TO RENEW CONTRACT**

Upon satisfactory service and by mutual agreement the BOARD OF EDUCATION OF PRINCE GEORGE'S COUNTY reserves the right to renew the contract. The term of renewal shall not exceed two (2) additional one (1) year periods.

# CONTRACT AWARD ESTIMATED AMOUNT

#### The estimated amount of award is: See Contract Pricing

THIS NOTICE OF AWARD IS NOT AN ORDER TO COMMENCE SERVICE/WORK OR TO MAKE DELIVERIES at this time. Commence service/work/deliveries only after receipt of a **Purchase Order** signed by the Purchasing Agent.

#### **INSURANCE**

A Certificate of Insurance, made in favor of the Board of Education of Prince George's County, Upper Marlboro, Maryland 20772-9983, must be submitted to the PURCHASING OFFICE with the returned signed NOTICE OF AWARD within ten (10) business days. The certificate should reference the Solicitation Number as shown herein. It will be the responsibility of the contractor to ensure that a current Certificate of Insurance is on file in the Purchasing Office during the entire period of the contract.

### LIQUIDATED DAMAGES/FAILURE TO PERFORM WORK

The successful Awardee accepts this contract with the understanding that should they fail to complete the work in an acceptable manner and in the time stated, shall be subject to the payment of liquidated damages as stated in the solicitation documents.

### AVAILABILITY OF FUNDS

The contract shall be deemed executory only to the extent of appropriations available to the BOARD for the purchase of such articles. The obligation of the BOARD on all contracts, including those which envision funding through current and successive fiscal years, shall be contingent upon actual Board appropriations for the fiscal year(s) involved.

### FINGERPRINTING AND CRIMINAL BACKGROUND CHECKS

### **Employees Having Direct Contact with and/or Uncontrolled Access to Students:**

A. Any and all current and future employees of the Vendor who have direct contact with students must have a fingerprinting criminal background check conducted by the Maryland Criminal Justice Information System (CJIS) and the FBI, a Child Protective Services clearance conducted by the Prince George's County Department of Social Services, and complete the SafeSchools training module – *Prince George's County Child Abuse: Mandatory Reporting* and any other required training as appropriate.

- B. All background checks must be completed 15 business days prior to beginning work in and around PGCPS property or engaging in any authorized activities involved PGCPS students. The background checks must be completed by the Fingerprinting Office in the Sasscer Administrative Building or by the PGCPS satellite fingerprinting offices located in Prince George's County. No person may begin working in PGCPS until 15 days after completing the background clearance process (fingerprint and CPS) and required online training through SafeSchools.
- C. Prior to initiating any work at a school building, current and future employees, contractors, subcontractors, agents, volunteers, outsourced temporary staff, consultants and instructors of the Vendor must sign in and sign out via the Raptor Visitor Management System, which requires a copy of their government issued identification.

#### **RESTRICTIONS ON EMPLOYEE ASSIGNMENTS**

Vendors are prohibited from assigning the following persons from working at a PGCPS location:

- A. Registered sex offenders (Maryland Code, Criminal Procedure Article Section 11-722)
- B. Individuals convicted of a crime involving third or fourth degree sexual offence under sections 3-307 or 3-308 of the Criminal Law Article; child sexual abuse under Section 3-602 of the Criminal Law Article; a crime of violence as defined in Section 14-101 of the Criminal Law Article; or comparable offenses in another state. (Annotated Code of Maryland, Education Article Section 6-113)
- C. Individuals identified as an alleged abuse or neglector following completion of a Child Protective Services investigation with a finding of "indicated" child abuse or neglect.

#### VENDOR RESPONSIBILITIES

- A. The Vendor agrees to provide the designated PGCPS representative with a list of all current employees and an immediate update of changes in personnel, employees, contractors, subcontractors, agents, volunteers, outsourced temporary staff, and any instructors. All correspondence should include the following information as applicable:
  - i. title of the project
  - ii. school/office
  - iii. solicitation number
  - iv. contract number; and
  - v. PGCPS representative/project manager

## PERSONALLY IDENTIFIABLE INFORMATION (PII)

**Personally Identifiable Information** includes any information that can be associated with or traced to any individual, including an individual's name, address, telephone number, e-mail address, credit card information, social security number, or other similar specific factual information, regardless of the media on which such information is stored (e.g., on paper or electronically) and includes such information that is generated, collected, stored or obtained as part of this Agreement, including transactional and other data pertaining to users. The parties will comply with all applicable privacy and other laws and regulations relating to protection, collection, use, and distribution of Personally Identifiable Information. In no event may PII be sold or transferred to third parties, or otherwise provide third parties with access thereto. If there is a suspected or actual breach of security involving Personally Identifiable Information, the parties will notify each other within twenty-four (24) hours of a management-level employee becoming aware of such occurrence.

This notice of award, plus the solicitation, your offer and any pertinent documents will constitute the entire contract. After acceptance by your firm and the BOARD. Please refer to IFB 028-21 for all applicable terms and conditions.

# ACCEPTED BY: ACME PAPER & SUPPLY COMPANY INC.



ROMAND ATTORN

## FOR THE BOARD OF EDUCATION:

		Aug 19, 2021
E	SIGNATURE	DATE
	Keith Stewart NAME:	
	Director, Purchasing & Supply Services TITLE	

FOR THE BOARD OF EDUCATION OF PRINCE GEORGE'S COUNTY UPPER MARLBORO, MARYLAND 20772

NAME

0 80

TITLE Acre Paper + Supply Co Inc FIRM

# IFB 028-21: Paper Goods and Chemicals, Food and Nutrition Services

ITEM NO.	DESCRIPTION	UNIT	Pack Size	Est. Usage	Brand Name and Item No. Proposed	Unit Price	Total Price
	A - Disposable Plastics						
1	Apron, Disposable, White. Polyethylene. 28 x 45. Full Length.	PKG	10	50	Safety Zone 330103 DAP1.25-28X46	\$ 7.74	\$ 386.75
2	Bag, 6 x 9.5 clear poly lip tape bag. Food Grade.	CS	1000	600	PPC FLATBETCLS4006	\$ 68.04	\$ 40,825.50
3	Bag, 7 x 7 clear poly lip tape bag. Food Grade.	CS	1000	600	ELKAY PSB773	\$ 24.48	\$ 14,688.00
	Bag, Bun Pan 27" x 37", produced from polyethylene resin. Complies with FDA rule for food contact. Bags should have high moisture vapor barrier to prolong shelf-life. Elkay 2737HD or an approved equal.	CS	200	400	ELKAY 2737HD	\$ 13.01	\$ 5,202.00
	Bag, Clear Plastic Food Storage, 11 x 9 with a 2" Gusset and die cut handle for carrying. 1.5 Mil HDPE. May be on a header. Reusable, recycle. Fast Take #TO1194 or equal.	CS	1000	1000	ELKAY TO1194	\$ 40.25	\$ 40,247.50
	Bag, Clear Plastic Food Storage, High Density Polyethylene, 8-3/4" x 3" x 12".	CS	1000	1000	HERITAGE F1212C	\$ 17.00	\$ 17,000.00
	Bag, Clear Plastic Food Storage, Linear Low Density Polyethylene, food grade, 8"x4"x18". Heritage F1218RC or an approved equal.	CS	1000	1800	ELKAY 6G084018	\$ 15.94	\$ 28,687.50
	Bag, Flip top Deli Bags, High Density Polyethylene, Saddle pack dispensing, holds up in warmer at 180-200 degrees, 7-1/2" x 7-1/2". Elkay DP7575 or an approved equal.	CS	2000	1000	ELKAY DP7575	\$ 10.41	\$ 10,412.50
9	Bag, Plastic, 11.25 x 6.5 x 22, Plain or Printed Thank you	CS	1000	1500	INTEPLAST	\$ 16.96	\$ 25,436.25
10	Container, 1-compartment, 6.5" x 6.5" x 3" approx., clear plastic, medium top hinged on one side and snaps into bottom for a secure fit (For Sandwiches/Salads). Dart C57PSTI or an approved equal.	CS	250	7800	PACTIV YCI821600000	\$ 41.88	\$ 326,664.00
	Cup, 9 oz. Conex Classic RE-PETE <sup>™</sup> Cup - Squat w/Environmental Print. Made with 20% Post consumer recycled PET. Must fit perfectly with item #A-29.	CS	1000	1200	CHESAPEAKE PET9	\$ 44.20	\$ 53,040.00
12	Cup, Soufflé, 2 oz., recyclable plastic, opaque. Must fit perfectly with item #A-25. SWH 200WHC or an approved equal.	CS	2500	150	CHESAPEAKE 200APS	\$ 26.56	\$ 3,984.38
13	Cup, Soufflé, 5-1/2 oz., recyclable plastic, opaque. Holds hot and cold food. Must fit perfectly with item #A-26. SWH 550WHC or an approved equal.	CS	2500	550	CHESAPEAKE 550APS	\$ 53.89	\$ 29,639.50

14	Cutlery Kit. Wrapped in food grade film, includes 1) Medium Weight Polypropylene, Break resistant Spork, 5.25-5.5" long, White and 2) Napkin, absorbent, white.	CS	1000	18000	CHESAPEAKE 130212	\$ 14.45	\$ 260,100.00
15	Cutlery, Fork. Medium Weight Polypropylene, 6" Length. Break resistant, White. Matches #A-16, A-18, A-19. Chesapeake 130400 or an approved equal.	CS	1000	600	CHESAPEAKE 130400	\$ 6.63	\$ 3,978.00
16	Cutlery, Knife. Medium Weight Polypropylene, 6.375" Length. Break resistant, White. Matches #A-15, A-18, A-19. Chesapeake 130402 or an approved equal.	CS	1000	100	CHESAPEAKE 130402	\$ 6.63	\$ 663.00
17	Cutlery, Spoon- taster, plastic disposable, medium weight, white color. NetChoice 406261 or an approved equal.	CS	3000	15	CHESAPEAKE 130474	\$ 17.00	\$ 255.00
18	Cutlery, Spoon-Soup. Medium Weight Polypropylene, 5.5 " Length. Break resistant, White. Matches #A-15, A-16, A-19. Chesapeake 130403 or an approved equal.	CS	1000	150	CHESAPEAKE 130403	\$ 6.63	\$ 994.50
19	Cutlery, Spoon-teaspoon. Medium Weight Polypropylene, 5.5 " Length. Break resistant, White. Matches #A-15, A-16, A-18. Chesapeake 130401 or an approved equal.	CS	1000	400	CHESAPEAKE 130401	\$ 6.63	\$ 2,652.00
20	Gloves- HIGH DENSITY Polyethylene disposable gloves, watertight, wrist length, food handler. Sizes: Large. Volk 70850L or an approvedequal. SOLD BY THE INDIVIDUAL BOX.	BX	100	400	Safety Zone GDPE-LG	\$ 4.76	\$ 1,904.00
21	Gloves- HIGH DENSITY Polyethylene disposable gloves, watertight, wrist length, food handler. Sizes: Medium. Volk 70850M or an approved equal. SOLD BY THE INDIVIDUAL BOX.	BX	100	1000	Safety Zone GDPE-MED	\$ 4.76	\$ 4,760.00
22	Gloves- HIGH DENSITY Polyethylene disposable gloves, watertight, wrist length, food handler. Sizes: Small. Volk 70850S or an approved equal. SOLD BY THE INDIVIDUAL BOX.	BX	100	400	Safety Zone GDPE-SM	\$ 4.76	\$ 1,904.00
23	Lid (for 20 oz). Clear PCR PET plastic, 6x1x9 Rectangular. Must fit perfectly with item #C-9. Sabert 51601F300PCR or equal.	CS	600	200	SABERT 51601F300PCR	\$ 66.13	\$ 13,226.00
24	Lid (for 8-10 oz paper container). Must fit perfectly with item #C- 11. NetChoice 71870 or an approved equal.	CS	250	50	NETCHOICE 71870	\$ 63.75	\$ 3,187.50
25	Lid (For Soufflé Cup) plastic, opaque, 2 oz snap-on. Must fit perfectly with Item #A-12 Soufflé Cup. SWH or an approved equal.	CS	2500	125	CHESAPEAKE 200APL	\$ 25.97	\$ 3,245.94
26	Lid (For Soufflé Cup), plastic, opaque, 5-1/2 oz snap-on. Must fit perfectly with item #A-013 soufflé cup. Appropriate for hot or cold items. SWH or an approved equal.	CS	2500	550	CHESAPEAKE 345APL	\$ 36.98	\$ 20,336.25

27 handle hot for Jose Jack Processor CS 1000 100 CHSAPEAKE DPPCF16T-PPL \$ 30.18 \$ 3,017.50   28 Lid, clear translucent flat lid, vented for 24 oz. round container that is 5.5° Diameter. Must fit perfectly with item #C-10. CS 600 1000 ECOPAX VBL-24 \$ 2 6.78 \$ 2 6,775.00   29 Lid, clear translucent plastic with strue with item #C-10. CS 1000 1000 CHESAPEAKE FL9PETNH \$ 19.98 \$ 19.975.00   20 Lid, clear translucent plastic with strue with item #A-11. Dart GSTS or an approved equal. CS 1000 1000 CHESAPEAKE FL9PETNH \$ 19.98 \$ 3,995.00   30 an approved equal. Mast fit perfectly with item #A-11. Dart GSTS or an approved equal. CS 1000 200 CHESAPEAKE FL9PETNH \$ 19.98 \$ 3,995.00   31 density (Liner- bag for sheet pan use only). Chesapeake 404812 CS 1000 350 IBS DT5SGALN \$ 2 6.35 \$ 9,222.50   32 Liner, can-trash receptacle. Low Density, Clear. 55 gallon, 1 Mil. Ox an approved equal. CS 1000 350 IBS DT5SGALN \$ 2 6.35 \$ 9,222.50   33 corrayabatic Clary type BY \$ 32000,750 gaugesp. packed in heavy rorray actic clary fits &		Lid, Clear polypropylene, flat lid for 12 oz. container. Must						
Paper LPKPHP-12 or approved equal. CS 600 1000 ECOPAX VBL-24 \$ 26.78 \$ 26,775.00   28 Lid, clear translucent flat lid, vented for 24 oz. round container that is 5.5" Diameter. Must fit perfectly with item #C-10. CS 600 1000 ECOPAX VBL-24 \$ 26.78 \$ 26,775.00   29 Lid, clear translucent plastic lid with no slot, 12 oz. Must fit perfectly with item #A-11. Dart L12CSNV or approved equal. CS 1000 200 CHESAPEAKE FL9PETNH \$ 19.98 \$ 19.975.00   30 an approved equal. Basic with straw slot, 10.0z. or approved equal. CS 1000 200 CHESAPEAKE FL9PETNH \$ 19.98 \$ 3.995.00   6621TS or an approved equal. Clear-trash receptucle 40 x 48 size 12M National High- CS 250 1500 CHESAPEAKE Adv 48 size 12M National High-   31 density (Liner-bag for sheet pan use only). Chesapeake 404812 CS 250 1500 CHESAPEAKE Adv 48 size 12M National High-   32 Liner, cau-trush receptucle. Low Density, Clear. 55 gallon, 1 Mil. CS 100 350 IBS DT55GALN \$ 26.35 \$ 9.222.50   33 corrugated box with cutter bar, 18" wide x 2000' long, continuous receptucle. Low Density. Clear. 55 gallon, 1 Mil. CS 1000 <td>27</td> <td></td> <td>CS</td> <td>1000</td> <td>100</td> <td>CHESAPEAKE</td> <td>\$ 30.18</td> <td>\$ 3,017.50</td>	27		CS	1000	100	CHESAPEAKE	\$ 30.18	\$ 3,017.50
28 that is 5.5" Diameter. Must fit perfectly with item #C-10. CS 600 1000 ECDPAX VBL-24 \$ 20.78 \$ 20.715.00   29 Lid, clear translucent plastic tid with no slot, 12 oz. Must fit. CS 1000 1000 CHESAPEAKE \$ 19.98 \$ 19.975.00   30 an approved equal. Lid, clear translucent plastic with straw slot, 10 oz. or approved equal. CS 1000 200 CHESAPEAKE \$ 19.98 \$ 19.975.00   30 an approved equal. Liner, can-trash receptacle 40 x 48 size 12M National High- CS 1000 200 CHESAPEAKE \$ 19.98 \$ 3,995.00   31 density (Liner- bag for sheet pan use only). Chesapeake 404812 CS 250 1500 CHESAPEAKE \$ 21.25 \$ 31,875.00   32 Liner, can-trash receptacle. Low Density, Clear. 55 gallon, 1 Mil. CS 100 350 IBS DT55GALN \$ 26.35 \$ 9,222.50   33 corrugated box with cutter bar, 18" wide x 2000' long, continuous rule. RL 1 300 CHESAPEAKE I82 \$ 15.34 \$ 4,602.75   34 cut hadle for carrying. Reclosable zipper. 1.5 Mil HDPE. Resubhele, recycle. Far Hach TO1161 for eqqual. S 1000 1000		Paper LFRFHP-12 or approved equal.				DPPFCF161-PPL		
India is 5.5" Diameter. Must fit perfectly with item #C-10.Inter and the fit of the f	20	Lid, clear translucent flat lid, vented for 24 oz. round container		600	1000		<b>•</b> • • • • • •	<b>•</b> • • • • • • • • • • • • • • • • • •
29 perfectly with item #A-11. Dart L12CSNV or approved equal. CS 1000 FL9PETNH \$19,98 \$19,975,00   Lid, clear translucent plastic with straw slot, 10 oz. or approved an approved equal. Must fit perfectly with item #A-11. Dart CS 1000 200 CHESAPEAKE \$19,98 \$3,995,00   Liner, can-trash receptacle 40 x 48 size 12M National High- CS 250 1500 CHESAPEAKE \$21,25 \$3,1875,00   31 density (Liner- bag for sheet pan use only). Chesapeake 404812 CS 250 1500 CHESAPEAKE \$21,25 \$3,1875,00   32 Liner, can-trash receptacle AD0 x 48 size 12M National High- CS 100 350 IBS DT55GALN \$26,35 \$9,222,50   34 vta 42-12. IBS DT55GALN or approved equal. RL 1 300 CHESAPEAKE 182 \$15,34 \$4,602,75   33 corrugated box with cutter bar, 18" wide x 2000 long, continuous RL 1 300 CHESAPEAKE 182 \$59,000,00   34 cut handle for carrying. Reclosable CPLA. Non-GMO CS 1000 1000 TO1164 \$59,000 \$59,000,00   2 Cuttery, Knift: Mid Size, Compostable CPLA. Non-GMO CS 10	28	that is 5.5" Diameter. Must fit perfectly with item #C-10.	CS	600	1000	ECOPAX VBL-24	\$ 26.78	\$ 26,775.00
perfectly with item #A-11. Dart L12CSNV or approved equal.PLOPETNHPLOPETNH1Lid, clear translucent plastic with straw slot, 10 oz. or approved an approved equal. Must fit perfectly with item #A-11. Dart Liner, can-trash receptacle 40 x 48 size 12M National High- density (Liner- bag for sheet pan use only). Chesapeake 404812CS1000200CHESAPEAKE FL9PETNH\$ 19.98\$ 3,995.0031density (Liner- bag for sheet pan use only). Chesapeake 404812CS2501500CHESAPEAKE 404812\$ 21.25\$ 31,875.0032Liner, can-trash receptacle. Low Density, Clear. 55 gallon, 1 Mil. 40 x 42-1/2. IBS DT55GALN or approved equalCS100350IBS DT55GALN\$ 26.35\$ 9,222.50Wrap, plastic cling type 18" x 2000; 50 gauge, packed in heavy roll. Chesapeake 182 or an approved equal.RL1300CHESAPEAKE 182\$ 15.34\$ 4,602.75Bag, Clear Plastic Food Storage, 11 x 6 with a 2" Gusset and die recycle. Fast Take #TO1164 or equal.CS10001000TO1164\$ 59.00\$ 59,000.00Cutlery, Fork. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000600CHESAPEAKE CHCPLAF\$ 42.50\$ 4,250.002Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAF\$ 42.50\$ 4,250.003cpreferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAF\$ 42.50\$ 4,250.004cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natu	20	Lid, clear translucent plastic lid with no slot, 12 oz. Must fit	CC	1000	1000	CHESAPEAKE	¢ 10.09	¢ 10.075.00
30 an approved equal. Must fit perfectly with item #A-11. Dart CS 1000 200 CHESAPEARE \$ 19.98 \$ 3,995.00   662TS or an approved equal. Liner, can-trash receptacle 40 x 48 size 12M National High-density (Liner- bag for sheet pan use only). Chesapeake 404812 CS 250 1500 CHESAPEAKE \$ 21.25 \$ 31.875.00   31 density (Liner- bag for sheet pan use only). Chesapeake 404812 CS 100 350 IBS DT55GALN \$ 26.35 \$ 9,222.50   32 Liner, can-trash receptacle. Low Density, Clear. 55 gallon, 1 Mil. CS 100 350 IBS DT55GALN \$ 26.35 \$ 9,222.50   33 corrugated box with cutter bar, 18" wide x 2000' long, continuous roll. Chesapeake 182 or an approved equal. RL 1 300 CHESAPEAKE 182 \$ 15.34 \$ 4,602.75   34 cut handle for carrying. Reclosable zipper. 1.5 Mil HDPE. CS 1000 1000 TO1164 \$ 59.00 \$ 59.000.00   35 Cutlery, Knife. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case. CS 1000 100 CHESAPEAKE \$ 42.50 \$ 4,250.00   36 Cutlery, Knife. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case. CS	29		CS	1000	1000	FL9PETNH	\$ 19.98	\$ 19,975.00
662TS or an approved equal.Image: Constraint of the second se	20	· · · · · · · · · · · · · · · · · · ·		1000	200	CHESAPEAKE	¢ 10.00	¢ 2,005,00
Liner, can-trash receptacle 40 x 48 size 12M National High- density (Liner- bag for sheet pan use only). Chesapeake 404812 or an approved equal.CS2501500CHESAPEAKE 404812\$ 21.25\$ 31,875.0032Liner, can-trash receptacle. Low Density, Clear. 55 gallon, 1 Mil. 40 x 42-1/2. IBS DT55GALN or approved equalCS100350IBS DT55GALN\$ 26.35\$ 9,222.50Wrap, plastic cling type 18" x 2000', 50 gauge, packed in heavy corrugated box with cutter bar, 18" wide x 2000' long, continuous roll. Chesapeake 182 or an approved equal.RL1300CHESAPEAKE 182\$ 15.34\$ 4,602.75Bag, Clear Plastic Food Storage, 11 x 6 with a 2" Gusset and die cut handle for carrying. Reclosable zipper. 1.5 Mil HDPE. Reusable, recycle. Fast Take #TO1164 or equal.CS10001000TO1164\$ 59.00\$ 59,000.00 <b>Group B - Recycleable, Compostable CPLA.</b> Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAK\$ 42.50\$ 4,250.002Cutlery, Knife. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAK\$ 42.50\$ 4,250.003Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLAK\$ 42.50\$ 4,250.004Cutlery, Sup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHESAPEAKE\$ 42.50\$ 17,000.004Cutlery, Sup Spoon. Mid Size, Compostable CPLA or PLA. <br< td=""><td>30</td><td></td><td>CS</td><td>1000</td><td>200</td><td>FL9PETNH</td><td>\$ 19.98</td><td>\$ 3,995.00</td></br<>	30		CS	1000	200	FL9PETNH	\$ 19.98	\$ 3,995.00
31 density (Liner- bag for sheet pan use only). Chesapeake 404812 or an approved equal. CS 250 1500 CHESAPEAKE 404812 \$ 21.25 \$ 31,875.00   32 Liner, can-trash receptacle. Low Density, Clear. 55 gallon, 1 Mil. 40 x 42-172. IBS DT55GALN or approved equal CS 100 350 IBS DT55GALN \$ 26.35 \$ 9,222.50   33 Wrap, plastic cling type 18" x 2000', 50 gauge, packed in heavy corrugated box with cutter bar, 18" wide x 2000' long, continuous roll. Chesapeake 182 or an approved equal. RL 1 300 CHESAPEAKE 182 \$ 15.34 \$ 4,602.75   34 cut handle for carrying. Reclosable zipper. 1.5 Mil HDPE. Reusable, recycle. Fast Take #T01164 or equal. CS 1000 1000 T01164 \$ 59.00 \$ 59,000.00   2 Cutlery, Fork. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case. CS 1000 600 CHESAPEAKE CHCPLAF \$ 42.50 \$ 4,250.00   3 Cutlery, Spon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case. CS 1000 100 CHESAPEAKE CHCPLAS \$ 42.50 \$ 4,250.00   4 Cutlery, Song Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case. CS 1000 100 CHESAPEAKE CHCPLAS \$ 42.50 <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>								
or an approved equal.ccccc32Liner, can-trash receptacle. Low Density, Clear. 55 gallon, 1 Mil. 40 x 42-1/2. IBS DT55GALN or approved equalCS100350IBS DT55GALN\$ 26.35\$ 9,222.5033Wrap, plastic cling type 18" x 2000', 50 gauge, packed in heavy corrugated box with cutter bar, 18" wide x 2000' long, continuous roll. Chesapeake 182 or an approved equal.RL1300CHESAPEAKE 182\$ 15.34\$ 4,602.7534Bag, Clear Plastic Food Storage, 11 x 6 with a 2" Gusset and die cut handle for carrying. Reclosable zipper. 1.5 Mil HDPE. Reusable, recycle. Fast Take #TO1164 or equal.CS10001000TO1164\$ 59.00\$ 59,000.007Cutlery, Fork. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000600CHESAPEAKE CHCPLAF\$ 42.50\$ 4,250.002Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.003Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLAS\$ 42.50\$ 17,000.00<	31	- · ·	CS	250	1500		\$ 21.25	\$ 31,875.00
32 40 x 42-1/2. IBS DT55GALN or approved equal CS 100 350 IBS DT55GALN \$ 26.35 \$ 9,222.50   33 Wrap, plastic cling type 18" x 2000', 50 gauge, packed in heavy corrugated box with cutter bar, 18" wide x 2000' long, continuous roll. Chesapeake 182 or an approved equal. RL 1 300 CHESAPEAKE 182 \$ 15.34 \$ 4,602.75   34 cut handle for carrying. Reclosable zipper. 1.5 Mil HDPE. Reusable, recycle. Fast Take #T01164 or equal. CS 1000 1000 T01164 \$ 59.00 \$ 59,000.00   Group B - Recycleable, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case. CS 1000 1000 CHESAPEAKE CHCPLAF \$ 42.50 \$ 4,250.00   2 Cutlery, Knife. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case. CS 1000 100 CHESAPEAKE CHCPLAK S \$ 42.50 \$ 4,250.00   3 Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case. CS 1000 100 CHESAPEAKE S \$ 42.50 \$ 4,250.00   4 Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case. CS 1000 100 CHESAPEAKE S \$ 42.50 \$ 4,250.00   4 Cutlery, Soup Spoon. Mid Siz						404812		
40 x 42-1/2. IBS D15SGALN or approved equal11 <t< td=""><td>32</td><td>1 1</td><td>CS</td><td>100</td><td>350</td><td>IBS DT55GALN</td><td>\$ 26.35</td><td>\$ 9,222.50</td></t<>	32	1 1	CS	100	350	IBS DT55GALN	\$ 26.35	\$ 9,222.50
33corrugated box with cutter bar, 18" wide x 2000' long, continuous roll. Chesapeake 182 or an approved equal.RL1300CHESAPEAKE 182\$ 15.34\$ 4,602.75Bag, Clear Plastic Food Storage, 11 x 6 with a 2" Gusset and die au thandle for carrying. Reclosable zipper. 1.5 Mil HDPE. Reusable, recycle. Fast Take #TO1164 or equal.CS1000TO1164\$ 59.00\$ 59,000.00Group B - Recycleable, Compostable Products1Cutlery, Fork. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000600CHESAPEAKE CHCPLAF\$ 42.50\$ 25,500.002Cutlery, Spon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAK\$ 42.50\$ 4,250.003Cutlery, Spon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAK\$ 42.50\$ 4,250.004Cutlery, Spon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.005CPLA preferred. Must fit perpectly with item #B-06. 2000/case. Greenware GPC400 or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.506CPLA preferred. Must fit perpectly with item #B-05. 2000/case. Greenware GXL345PC or equal.CS4002000PACTIV YLI8116\$ 77.00\$ 154,000.006Container, 1-compartment, 6.5" x 6.5" x 3" approx. Clear Container, 1-compartment, 6.5" x 6.5" x 3" approx. <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>. ,</td></t<>								. ,
roll. Chesapeake 182 or an approved equal.Image: Constraint of the second s	33		RI	1	300	CHESAPEAKE 182	\$ 15.34	\$ 4 602 75
Bag, Clear Plastic Food Storage, 11 x 6 with a 2" Gusset and die cut handle for carrying. Reclosable zipper. 1.5 Mil HDPE. Reusable, recycle. Fast Take #TO1164 or equal.CS1000TO1164\$ 59.00\$ 59,000.00Growp B - Recycleable, Compostable Products1Cutlery, Fork. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000600CHESAPEAKE CHCPLAF\$ 42.50\$ 25,500.002Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAF\$ 42.50\$ 4,250.003Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAF\$ 42.50\$ 4,250.004Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA or PLA. CPLA preferred. Must fit perpectly with item #B-06. 2000/case. Greenware GPC400 or equal.S 42.50\$ 550FABRIKAL GXL345PC\$ 43.85\$ 24,117.506CPLA preferred. Must fit perpectly with item #B-05. 2000/case. Greenware GYL345PC or equal.CS2000550FABRIKAL GXL345PC\$ 43.85\$ 24,117.507Compostable PLA, medium top hinged on one side and snaps intoCS	55	5	KL	1	500	CHESAI LARE 102	ψ 15.54	φ +,002.75
Reusable, recycle. Fast Take #T01164 or equal.Image: Constant of the second								
Group B - Recycleable, Compostable Products1Cutlery, Fork. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000600CHESAPEAKE CHCPLAF\$ 42.50\$ 25,500.002Cutlery, Knife. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAK\$ 42.50\$ 4,250.003Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAK\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.005Cutlery, Soup Spoon. Mid Size, Compostable CPLA or PLA. CPLA preferred. Must fit perpectly with item #B-06. 2000/case. Greenware GPC400 or equal.CS1000400FABRIKAL GPC400\$ 64.50\$ 35,475.006CPLA preferred. Must fit perpectly with item #B-05. 2000/case. Greenware GXL345PC or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.507Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear Compostable PLA, medium top hinged on one side and snaps intoCS4002000PACTIV YLI8116\$ 77.00\$ 154,000.00	34	cut handle for carrying. Reclosable zipper. 1.5 Mil HDPE.	CS	1000	1000	TO1164	\$ 59.00	\$ 59,000.00
1Cutlery, Fork. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000600CHESAPEAKE CHCPLAF\$ 42.50\$ 25,500.002Cutlery, Knife. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAK\$ 42.50\$ 4,250.003Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.005Cutlery, Soup Spoon. Mid Size, Compostable CPLA or PLA. preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLASS\$ 42.50\$ 17,000.006CPLA preferred. Must fit perpectly with item #B-06. 2000/case. Greenware GPC400 or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.506CPLA preferred. Must fit perpectly with item #B-05. 2000/case. Greenware GXL345PC or equal.CS2000PACTIV YLI8116\$ 77.00\$ 154,000.007Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear Compostable PLA, medium top hinged on one side and snaps intoCS4002000PACTIV YLI8116\$ 77.00\$ 154,000.00 <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>								
1preferred. Natural Color. 1000/case.CS1000600CHCPLAF\$ 42.50\$ 25,500.002Cutlery, Knife. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAK\$ 42.50\$ 4,250.003Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLASS\$ 42.50\$ 17,000.005Cup, Portion/Soufflé, 4 oz., Clear. Compostable CPLA or PLA. Greenware GPC400 or equal.CS2500550FABRIKAL GPC400\$ 64.50\$ 35,475.006CPLA preferred. Must fit perpectly with item <b>#B-06.</b> 2000/case. Greenware GXL345PC or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.506CPLA preferred. Must fit perpectly with item <b>#B-05.</b> 2000/case. Greenware GXL345PC or equal.CS4002000PACTIV YLI8116\$ 77.00\$ 154,000.007Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear Compostable PLA, medium top hinged on one side and snaps intoCS4002000PACTIV YLI8116\$ 77.00\$ 154,000.00	Grou				Ē	1		
preferred. Natural Color. 1000/case.CCCCHCPLAFCC2Cutlery, Knife. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAK\$ 42.50\$ 4,250.003Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLASS\$ 42.50\$ 17,000.005Cutlery, Soup Spoon. Mid Size, Compostable CPLA or PLA. preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLASS\$ 42.50\$ 17,000.006Cup, Portion/Soufflé, 4 oz., Clear. Compostable CPLA or PLA. Greenware GPC400 or equal.CS2500550FABRIKAL GPC400\$ 64.50\$ 35,475.006CPLA preferred. Must fit perpectly with item <b>#B-05.</b> 2000/case. Greenware GXL345PC or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.506Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear Compostable PLA, medium top hinged on one side and snaps intoCS4002000PACTIV YLI8116\$ 77.00\$ 154,000.00	1	•	CS	1000	600		\$ 42.50	\$ 25,500.00
2preferred. Natural Color. 1000/case.CS1000100CHCPLAK\$ 42.50\$ 4,250.003Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLASS\$ 42.50\$ 4,250.005Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLASS\$ 42.50\$ 17,000.006CUp, Portion/Soufflé, 4 oz., Clear. Compostable CPLA or PLA. Greenware GPC400 or equal.CS2500550FABRIKAL GPC400\$ 64.50\$ 35,475.006CPLA preferred. Must fit perpectly with item #B-05. 2000/case. Greenware GXL345PC or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.507Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear Compostable PLA, medium top hinged on one side and snaps intoCS4002000PACTIV YLI8116\$ 77.00\$ 154,000.00								
3Cutlery, Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000100CHESAPEAKE CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLASS\$ 42.50\$ 17,000.005Cup, Portion/Soufflé, 4 oz., Clear. Compostable CPLA or PLA. CPLA preferred. Must fit perpectly with item <b>#B-06.</b> 2000/case. Greenware GPC400 or equal.CS2500550FABRIKAL GPC400\$ 64.50\$ 35,475.006CPLA preferred. Must fit perpectly with item <b>#B-05.</b> 2000/case. Greenware GXL345PC or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.507Compostable PLA, medium top hinged on one side and snaps intoCS4002000PACTIV YLI8116\$ 77.00\$ 154,000.00	2	•	CS	1000	100		\$ 42.50	\$ 4,250.00
5preferred. Natural Color. 1000/case.CS10001000CHCPLAS\$ 42.50\$ 4,250.004Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLASS\$ 42.50\$ 17,000.005Cup, Portion/Soufflé, 4 oz., Clear. Compostable CPLA or PLA. Greenware GPC400 or equal.CS2500550FABRIKAL GPC400\$ 64.50\$ 35,475.006CPLA preferred. Must fit perpectly with item #B-06. 2000/case. Greenware GPC400 or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.506CPLA preferred. Must fit perpectly with item #B-05. 2000/case. Greenware GXL345PC or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.507Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear Compostable PLA, medium top hinged on one side and snaps intoCS4002000PACTIV YLI8116\$ 77.00\$ 154,000.00								
4Cutlery, Soup Spoon. Mid Size, Compostable CPLA. Non-GMO preferred. Natural Color. 1000/case.CS1000400CHESAPEAKE CHCPLASS\$ 42.50\$ 17,000.005Cup, Portion/Soufflé, 4 oz., Clear. Compostable CPLA or PLA. CPLA preferred. Must fit perpectly with item <b>#B-06.</b> 2000/case. Greenware GPC400 or equal.CS2500550FABRIKAL GPC400\$ 64.50\$ 35,475.006Lid, Clear Compostable CPLA or PLA for 4 oz. portion cup. CPLA preferred. Must fit perpectly with item <b>#B-05.</b> 2000/case. Greenware GXL345PC or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.507Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear Compostable PLA, medium top hinged on one side and snaps intoCS4002000PACTIV YLI8116\$ 77.00\$ 154,000.00	3		CS	1000	100		\$ 42.50	\$ 4,250.00
preferred. Natural Color. 1000/case.CCCHCPLASSCHCPLASS5Cup, Portion/Soufflé, 4 oz., Clear. Compostable CPLA or PLA. CPLA preferred. Must fit perpectly with item <b>#B-06.</b> 2000/case. Greenware GPC400 or equal.CS2500550FABRIKAL GPC400\$ 64.50\$ 35,475.006Lid, Clear Compostable CPLA or PLA for 4 oz. portion cup. CPLA preferred. Must fit perpectly with item <b>#B-05.</b> 2000/case. Greenware GXL345PC or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.507Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear Compostable PLA, medium top hinged on one side and snaps intoCS4002000PACTIV YLI8116\$ 77.00\$ 154,000.00	4		CC	1000	400		¢ 12.50	¢ 17.000.00
5CPLA preferred. Must fit perpectly with item #B-06. 2000/case. Greenware GPC400 or equal.CS2500550FABRIKAL GPC400\$ 64.50\$ 35,475.006Lid, Clear Compostable CPLA or PLA for 4 oz. portion cup. CPLA preferred. Must fit perpectly with item #B-05. 2000/case. Greenware GXL345PC or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.507Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear Compostable PLA, medium top hinged on one side and snaps intoCS4002000PACTIV YLI8116\$ 77.00\$ 154,000.00	4		CS	1000	400	CHCPLASS	\$ 42.50	\$ 17,000.00
5CPLA preferred. Must fit perpectly with item #B-06. 2000/case. Greenware GPC400 or equal.CS2500550GPC400\$ 64.50\$ 35,475.006Lid, Clear Compostable CPLA or PLA for 4 oz. portion cup. CPLA preferred. Must fit perpectly with item #B-05. 2000/case. Greenware GXL345PC or equal.CS2500550FABRIKAL GXL345PC\$ 43.85\$ 24,117.507Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear Compostable PLA, medium top hinged on one side and snaps intoCS4002000PACTIV YLI8116\$ 77.00\$ 154,000.00		•				FABRIKAL		
Greenware GPC400 or equal. FABRIKAL GXL345PC \$ 43.85 \$ 24,117.50   6 Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear Greenware GSL345PC or equal. GREENWARE GSL345PC FABRIKAL GSL345PC \$ 43.85 \$ 24,117.50   7 Compostable PLA, medium top hinged on one side and snaps into CS 400 2000 PACTIV YLI8116 \$ 77.00 \$ 154,000.00	5		CS	2500	550		\$ 64.50	\$ 35,475.00
6 CPLA preferred. Must fit perpectly with item #B-05. 2000/case. Greenware GXL345PC or equal. CS 2500 550 FABRIKAL GXL345PC \$ 43.85 \$ 24,117.50   7 Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear CS 400 2000 PACTIV YLI8116 \$ 77.00 \$ 154,000.00								
Greenware GXL345PC or equal. GXL345PC   Container, 1-compartment, 6.5" x 6.5" x 3" approx., Clear PACTIV YLI8116   7 Compostable PLA, medium top hinged on one side and snaps into CS	6		CS	2500	550	FABRIKAL	\$ 13.85	\$ 24 117 50
Container, 1-compartment, 6.5" x 6.5" x 3" approx., ClearCS4002000PACTIV YLI8116\$ 77.00\$ 154,000.00	0	1 1 1 2	CD	2500	550	GXL345PC	φ το.σο	ψ 27,117.50
7 Compostable PLA, medium top hinged on one side and snaps into CS 400 2000 PACTIV YLI8116 \$ 77.00 \$ 154,000.00								
	7		CS	400	2000	PACTIV YLI8116	\$ 77.00	\$ 154,000.00

Grou	o C - Disposable Paper						
1	Bag, 6 x 2 x 8, Quilted, Insulated Foil/Paper Bag for hot sandwiches. Bagcraft #300519 or equal.	PKG	1000	600	BAGCRAFT 380519	\$ 80.03	\$ 48,016.50
2	Bag, Brown Paper, 5 lb. 30 lb. Basis Weight, 5-1/4" x 3-7/16" x 10-15/16". Duro #5 or an approved equal. SOLD BY PACKAGE OF 500 COUNT ONLY.	PKG	500	450	DURO #5	\$ 9.72	\$ 4,371.98
3	Bag, Kraft Paper Window Bag, 6.5 x 2 x 8.5	CS	1000	500	BAGCRAFT 300116	\$ 32.60	\$ 16,298.75
4	Bag, Plain double open pizza bag 8.375 x 9	CS	1000	500	FISCHER 1014	\$ 22.48	\$ 11,241.25
5	Bag, Plain foil out hot dog bag 3.5 x 1.5 x 8.5	CS	1000	250	BAGCRAFT 455	\$ 42.42	\$ 10,603.75
6	Bag, Sandwich (For Cookies), White, Double Waxed, 4-1/2" x 4-1/2".	PKG	2000	75	BAGCRAFT PB6	\$ 16.07	\$ 1,204.88
7	Bag, White, Double Waxed, #8, 6-1/8 x 4 x 12-3/8 (Summer Use only) Bagcraft 298 or an approved equal.	PKG	500	600	BAGCRAFT 298	\$ 33.58	\$ 20,145.00
8	Container, 12 oz. Round Poly lined Paper for hot or cold items. Plain White. Must fit perfectly with item #A-27. International Paper DFR-12 or an approved equal.	CS	1000	200	CHESAPEAKE DPPFCW12-B	\$ 53.13	\$ 10,625.00
9	Container, 20 oz. Compostable. 6 x 1 x 9 Rectangular. Made of molded fiber, compostable base. Natural. Must fit perfectly with item #A-23. Sabert 46120F300N or equal.	CS	600	1500	SABERT 46120F300N	\$ 59.42	\$ 89,122.50
10	Container, 24 oz. 5.5" Diameter. Round Poly lined Paper for hot or cold items. Plain White. Must fit perfectly with item #A-28.	CS	600	1500	ECOPAX PB-24	\$ 48.24	\$ 72,356.25
11	Container, 8-10 oz paper container. Durable, double poly-coated paper. Microwave and Freezer safe. Must fit perfect with item # A-24. NetChoice 01383 or an approved equal.	CS	250	250	NETCHOICE 01383	\$ 25.29	\$ 6,321.88
12	Deli Paper, 10.75 x 8, Grease Resistant, Red Checkers	CS	6000	200	BROWN PAPER 2108-RC	\$ 46.75	\$ 9,350.00
13	Food Pail, 16 oz, no handle, with Pagoda design preferred. Waxed lined, hot food holding. Made from bioearth Kraft 70% post consumer paper. Kari Out 16MWPAGODM or an approved equal.	CS	450	500	KARI-OUT 16MWPAGODM	\$ 47.90	\$ 23,948.75
14	Liner, PAN, greaseproof, quinlon coated, fits a standard size 18 x 20 bun pan. Chesapeake 400331 or an approved an equal.	CS	1000	2000	CHESAPEAKE 400331	\$ 26.01	\$ 52,020.00
15	Napkin 100% recycled paper, 100% post consumer content, 100% bleach free process, Daintifold Lowfold 5.5 x 12, White. SCA D3061B or an approved equal.	CS	8040	500	SCA 03061B	\$ 21.78	\$ 10,890.00

	Napkin 100% recycled paper, 100% post consumer content, 100% bleach free process, Interfold, 9 x 12, 1-Ply, White. SCA D63311A or an approved equal.	CS	8040	1000	CASCADES N130	\$ 19	.13	\$	19,125.00
	Paper Tray, 7.75 x 5.5 x 2.87 Eco Box, 2-Compartment. Coated. Grease resisitant. Kari-Out #100323 or equal.	PKG	120	2500	KARI-OUT 100323	\$ 48	.26	\$ 12	20,637.50
	Patty Paper, coated 5.5" x 5.5". Individual boxed of 1000 sheets. BagCraft P50550 or an approved equal. SOLD BY THE BOX ONLY	BX	1000	5	BAGCRAFT P050550	\$ 5	.53	\$	27.63
19	Pizza Box, 9" Clam Shell. Plain White	CS	220	150	PACTIV D186	\$ 29	.75	\$	4,462.50
20	Sandwich Wrap, Blue 10-1/2" x 13" Insulated, cushion foil/paper laminated creating a thermal barrier. BagCraft 300829 or an approved equal.	PKG	500	75	BAGCRAFT 300829	\$ 15	.73	\$	1,179.38
21	Sandwich Wrap, Gold 10-1/2" x 13" Insulated, cushion foil/paper laminated creating a thermal barrier. BagCraft 300828 or an approved equal.	PKG	500	75	BAGCRAFT 300828	\$ 15	.73	\$	1,179.38
22	Sandwich Wrap, Red 10-1/2" x 13" Insulated, cushion foil/paper laminated creating a thermal barrier. BagCraft 300827 or an approved equal.	PKG	500	100	BAGCRAFT 300827	\$ 15	.73	\$	1,572.50
14	Tray, 5 Compartment, Heavyweight, smooth Molded Fiber trays, made from 100% recycled paper fibers that are 100% compostable. 8-1/2" x 10-1/2". Huhtamaki 21032 or an approved equal.	CS	240	25000	HUHTAMAKI 21032	\$ 17	.26	\$ 4	31,500.00
24	Tray, Carry-To Foodservice Tray or Cali Tray, 8.5" x 5.5" x 2", Straight edge. Kraft Red Plaid. 100% bio-degradable. Special Quality Paper (SQP) 6195 or an approved equal.	CS	500	5500	SQP 619J	\$ 22	.80	\$ 12	25,400.00
25	Tray, Food 1/4 lb polywax lined glued on ends (Tray, Sml F.Fry tray). SQP 8125 or an approved an approved equal.	CS	1000	150	SQP 8125	\$ 12	.37	\$	1,855.13
26	Tray, Food 2 lb polywax lined glued on ends (Tray, Lg, Sub Sand use). SQP 8152 or an approved equal.	CS	1000	50	SQP 5152	\$ 19	.04	\$	952.00
27	Tray, Food 3 lb polywax lined glued on ends (Tray, Lg, Burrito Bowls). SQP 8153 or an approved equal.	CS	500	50	SQP 8153	\$ 15	.77	\$	788.38
	o D - Miscellaneous Disposables				· · · · ·				
1	Covering, Beard protector, 100 ct. SOLD BY THE PKG ONLY. CelluCap BP4R or an approved equal.	PKG	10	15	SAFETY ZONE DBD-1000	\$ 63	.38	\$	950.64
2	Covering, Hair Net, Black, 144 ct. SOLD BY THE PKG ONLY. CelluCap HN500 or an approved equal.	PKG	144	100	SAFETY ZONE RPH.144	\$ 10	.63	\$	1,062.50
3	Dispenser, Napkin dispenses 9"x12" daintifold napkin, Item #A- 63, Cabinet model. SCA 8TB5 or an approved equal.	EA	1	10	ESSITY 8TB5	\$4	.25	\$	42.50
4	Dispenser, Saddle pack holder, stainless steel, 6"x6"x11". Elkay or an approved equal.	EA	1	30	ELKAY DPSTAND	\$ 12	.75	\$	382.50

5	Foil Aluminum, 12" wide x 1000' long, .0008 gauge, packed in heavy corrugated box with cutter bar, standard weight, heavy	RL	1	125	HFA 11203	\$ 23.67	\$ 2,959.06
	duty.						
6	Foil Aluminum, 18" wide x 1000' long, .0008 gauge, packed in heavy corrugated box with cutter bar, standard weight, heavy	RL	1	500	HFA 11807	\$ 51.43	\$ 25,712.50
	duty.						
7	Glove, Vinyl, Powder Free, size: Large. Volk 81077L or an approved equal. SOLD BY THE BOX ONLY.	BX	100	400	CHESAPEAKE 330936	\$ 3.32	\$ 1,326.00
8	Glove, Vinyl, Powder Free, size: Medium. Volk 81077M or an approved equal. SOLD BY THE BOX ONLY.	BX	100	200	CHESAPEAKE 330935	\$ 3.32	\$ 663.00
9	Glove, Vinyl, Powder Free, size: Small. Volk 81077S or an approved equal. SOLD BY THE BOX ONLY.	BX	100	10	CHESAPEAKE 330934	\$ 3.32	\$ 33.15
10	Glove, Vinyl, Powder Free, size: X-Large. Chesapeake VFXL or an approved equal Volk 81077XL or an approved equal. SOLD BY THE BOX ONLY.	BX	100	10	CHESAPEAKE 330937	\$ 3.32	\$ 33.15
11	Gloves, Flock Lined Rubber, Size: Large. Latex allergy resistant. Safety Zone GFRY LG or an approved equal. SOLD BY THE PAIR ONLY.	PR	1	150	SAFETY ZONE GRFY-LG	\$ 3.40	\$ 510.00
12	Gloves, Flock Lined Rubber, Size: Medium. Latex allergy resistant. Safety Zone GFRY MD or an approved equal. SOLD BY THE PAIR ONLY.	PR	1	150	SAFETY ZONE GRFY-MD	\$ 3.40	\$ 510.00
13	Gloves, Flock Lined Rubber, Size: Small. Latex allergy resistant. Safety Zone GFRY SM or an approved equal. SOLD BY THE PAIR ONLY.	PR	1	40	SAFETY ZONE GRFY-SM	\$ 3.40	\$ 136.00
14	Gloves, Flock Lined Rubber, Size: X-Large. Latex allergy resistant. Safety Zone GFRY XL or an approved equal. SOLD BY THE PAIR ONLY.	PR	1	50	SAFETY ZONE GRFY-XL	\$ 3.40	\$ 170.00
15	Label, Beef, 2" Round Sticker. White Gloss. 1000 labels per roll.	RL	RL	200	DAYMARK	\$ 5.85	\$ 1,170.00
16	Label, Chicken, 2" Round Sticker. White Gloss. 1000 labels per roll.	RL	RL	200	DAYMARK	\$ 5.85	\$ 1,170.00
17	Label, Peanut Butter, 2" Round Sticker. White Gloss. 1000 labels per roll.	RL	RL	600	DAYMARK	\$ 5.85	\$ 3,510.00
18	Label, Pork, 2" Round Sticker. White Gloss. 1000 labels per roll.	RL	RL	200	DAYMARK	\$ 5.85	\$ 1,170.00
19	Label, Tuna, 2" Round Sticker. White Gloss. 1000 labels per roll.	RL	RL	200	DAYMARK	\$ 5.85	\$ 1,170.00
20	Label, Turkey, 2" Round Sticker. White Gloss. 1000 labels per roll.	RL	RL	200	DAYMARK	\$ 5.85	\$ 1,170.00

D105D #			
P105R \$	5.85	\$	731.25
P101R \$	5.85	\$	731.25
P104R \$	5.85	\$	731.25
P102R \$	5.85	\$	731.25
P103R \$	5.85	\$	731.25
CS 38- \$	0.43	\$	106.25
•			
75 \$	80.75	\$	403.75
<b>S</b>	63.75	\$	1,275.00
	42.50	\$	212.50
	18.70	\$	467.50
<b>S</b>	18.70	\$	374.00
\$	18.70	\$	374.00
	34.00	\$	340.00
DH400 \$	27.20	\$	272.00
C.	15.30	\$	76.50
C I	29.75	\$	148.75
\$ \$	19.68	\$	1,967.75
49 \$	16.49	\$	824.50
	P104R \$   P102R \$   P103R \$   P103R \$   TS 38- \$   75 \$   STER \$   SHI \$   M8 \$   SAKE \$   6 \$   SAKE \$   S	P104R \$ 5.85   P102R \$ 5.85   P103R \$ 5.85   P103R \$ 5.85   P103R \$ 0.43   TS 38- \$ 0.43   STER \$ 18.70   SAKE \$ 27.20   AS \$ 29.75   SAS \$ 19.68	P104R\$5.85\$P102R\$5.85\$P103R\$5.85\$P103R\$5.85\$P103R\$5.85\$P103R\$ $5.85$ \$P103R\$ $0.43$ \$P103R\$ $18.70$ \$P10400\$ $27.20$ \$P1400\$ $27.20$ \$P1400\$ $29.75$ \$P1400\$ $29.75$ \$P1400\$ $19.68$ \$

13	Napkins, Paper, Beverage sized, 9.75" x 9". Chesapeake BW or	CS	4000	10	CHESAPEAKE	\$ 10.63	\$	106.25
14	an approved equal. Napkins, Paper, Dinner sized, 15" x 17". Chesapeake DW or an	CS	3000	10	BW CHESAPEAKE	\$ 33.41	\$	334.05
15	approved equal. Pan, Steam Table, Full Size, 12"x 20"x4", 50 gauge aluminum. Pactiv Y6120XH or an approved equal.	CS	50	50	DW HFA 4020	\$ 39.23	\$	1,961.38
16	Pan, Steam Table, Full Size, Deep, 50 gauge aluminum. Pactiv Y6050XH or an approved equal.	CS	50	125	HFA 2019	\$ 40.72	\$	5,089.38
17	Pan, Steam Table, Half Size, 12-3/4 x 10-3/8 x 4" 50 gauge aluminum. Pactiv Y6112XH or an approved equal.	CS	100	50	HFA 321	\$ 26.82	\$	1,340.88
18	Pan, Steam Table, Half Size, Deep, 50 gauge aluminum. Pactiv Y6132XH or an approved equal.	CS	100	50	HFA 4025	\$ 28.99	\$	1,449.25
19	Pan, Steam Table, Half Size, Extra Deep, 50 gauge aluminum. Pactiv 6342-60Y or an approved equal.	CS	100	50	HFA 2014	\$ 66.43	\$	3,321.38
20	Pan, Steam Table, Half Size, Shallow, 50 gauge aluminum. Pactiv Y6012XH or an approved an approved equal	CS	100	50	HFA 320	\$ 26.05	\$	1,302.63
21	Plate, 6.25" Clear Plastic, Etched, 12/35 ct. EMI CC6 or an approved equal.	CS	420	15	EMI YOSHI EMI-CC6	\$ 69.70	\$	1,045.50
22	Plate, 9" Clear Plastic, Etched, 12/35 ct. EMI CC9 or an approved equal.	CS	300	15	EMI YOSHI EMI-CC9	\$ 69.70	\$	1,045.50
23	Platter, 7 x 10, Made of molded sugar cane fiber. Compostable. Natural.	CS	500	50	BRIDGEGATE BGW710	\$ 45.05	\$	2,252.50
24	Spoon, Serving, Black, 10". Innovative U1025BK or an approved equal.	BX	100	5	INNOVATIVE U1025BK	\$ 19.55	\$	97.75
25	Stirrer, Plastic, 5- 1/2" long. NetChoice 420154 or an approved equal. SOLD BY THE BOX ONLY.	CS	1000	10	CHESAPEAKE 5SSBU	\$ 1.70	\$	17.00
26	Table Cover, 2-Ply Tissue Paper, 1-Ply Poly, 54" x 108", White.Hoffmaster 210130 or an approved equal.	CS	25	10	HOFFMASTER 21030	\$ 29.75	\$	297.50
27	Tongs, Black, Catermate 9" (& Headstart use). EMI 209 or an approved equal.	BX	100	5	EMI-YOSHI EMI-209B	\$ 33.15	\$	165.75
28	Tray, 12" Round, polypropylene made from recycled material. High gloss, flat with rim, plastic, black, for catering service. Must fit perfectly with item # E-9. Innovative or an approved equal.	CS	25	5	DOUGLAS STEPHENS STAK12RB	\$ 17.00	\$	85.00
29	Tray, 16" Round, polypropylene made from recycled material. High gloss, flat with rim, plastic, black, for catering service. Must fit perfectly with item # E-10. Innovative or an approved equal.	CS	25	5	DOUGLAS STEPHENS STAK16RB	\$ 26.35	\$	131.75
	<b>P</b> F - Cafeteria Cleaning Supplies and Chemical Supplies	00		250		¢ 10.12	¢	0.500.75
1	Bleach A-1, 6/1 Gallon.	CS	6	250	STARCO 4942	\$ 10.12	\$	2,528.75

2	Cleaner, Degreaser, 4/1 Gallon. Dyno Brand or an approved equal.	CS	4	200	STARCO 8015 DYNO	\$ 21.59	\$ 4,318.00
3	Cleaner, Delimer, 4/1 Gallon.	CS	4	100	STARCO 11210	\$ 33.92	\$ 3,391.50
4	ConvoCare, Ready-to-Use. Neutralizer agent for Cleveland Range Combi-Steam Oven. Must remove limescale; 10 L. Art-no. 113745 or equal.	EACH	1	5	WELBILT CCARE	\$ 177.65	\$ 888.25
5	ConvoClean Forte, Alkaline cleaner with wetting agent for Cleveland Range Combi-Steam Oven. Safe on stainless steel. 2.5 Gallon. Convotherm #CC102 or equal.	EACH	1	5	WELBILT CC102	\$ 169.15	\$ 845.75
6	ConvoClean New, Ready-to-Use. Cleaner with high wetting action for Cleveland Range Combi-Steam Oven. Moderate cleaning strength; 10 L. Art-no. C3007015 or equal.	EACH	1	5	RATIONAL 9006.0153	\$ 72.25	\$ 361.25
7	Dish Detergent, concentrated, for pots and pans, Quick Suds	CS	4	15	STARCO QUICK SUDS	\$ 19.55	\$ 293.25
8	Dish Detergent, Eco Friendly. Guardian Plus or an approved equal.	CS	4	20	ECOLAB GUARDIAN PLUS 6110553	\$ 130.05	\$ 2,601.00
9	First Aid Kit. ANSI/ISEA Z308.1-2015, Class B, Type I	EA	1	200	IMPACT 7850	\$ 40.38	\$ 8,075.00
10	Sanitizer Bucket, 3 Quart, Red	EA	1	100	WINCO PPL3R	\$ 2.85	\$ 284.75
11	Sanitizer Bucket, 6 Quart, Red	EA	1	100	WINCO PPL6R	\$ 3.40	\$ 340.00
12	Scouring Pads- green 6" x 9-1/2" Heavy duty nylon, 20 pads/box. ASC or approved an equal. <b>SOLD BY THE BOX ONLY</b>	BX	20	2000	CHESAPEAKE CH9620	\$ 4.46	\$ 8,925.00
13	Tablets, Cleaner for Combi Oven. Rational or an approved equal.	CTN	100	5	RATIONAL	\$ 169.15	\$ 845.75
14	Tablets, Rinse Aid for Combi Oven. Rational or an approved equal.	CTN	100	5	RATIONAL	\$ 93.50	\$ 467.50
15	Towel, Heavy Duty Paper, Bounty Roll, 30RL/CS. Bounty or an approved equal.	CS	30	20	BOUNTY PG 74657	\$ 36.81	\$ 736.10
16	Towel, Kraft White Paper, 30RL/CS. Chesapeake or an approved equal.	CS	30	15	CHESAPEAKE 410136	\$ 21.25	\$ 318.75
17	Twist Ties, Green, Food Grade, 4".	CS	2000	40	LECO TT-4-GREEN	\$ 3.17	\$ 126.82
18	Warewashing Additive, 4/1 Gallon. Jet Dry or an approved equal.	CS	4	5	JET DRY	\$ 76.50	\$ 382.50
19	Wipes. Foodservice Utility Towels. Medium - Heavy Duty, White/Red 13" x 21". Super absorbent. Durable. Reusable. Disposable. Chesapeake 458002 or an approved equal. <b>SOLD</b> <b>BY THE BOX ONLY</b>	BX	150	4600	CHESAPEAKE 458002	\$ 21.25	\$ 97,750.00